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| Equations for this topic

| Work = Force x Distance
: Power = Work done/ time E
| Efficiency = useful energy output/total
Lener input
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. . | - Particles: The tiny things that all materials are
LAETIEI:S_IHSIQ_C)f_pa:IIiIei || made from The smallest unit of matter.

I
I
| ot s o e . eumemm |: Atom: Atoms are the building blocks of all matter. I
I States of matter: ¥ Everything is made of atoms even yourself. They I
| are the smallest particle of an elementwhich are far
: | | too small to see |
| - Solid: Have a fixed shape and cannot flow,
| o e = | | because their particles cannot move from place to |
I i £ s I place, cannot be compressed (squashed), because |

water to make a solution. sugar
These solids are soluble.
A solution is made from a

Armangement LY Randorly Randomdy their particles are close together and have no spacIa
of particles pattern arranged arranged .
I Movement of Vibeate around Move around Move guickly in I TO move In'I'O. I
I shusdposiion  each other o Grections | | - Liquid Flow and take the shape of their contain
| Bty st e | because their particles can move around each o‘rher
| ° o || cannot be compressed because their particles are
I m o close together and have no space to move into I
e © - Gas: Flow and completely fill their container, |
e _ _ _ _ _____ I | because their particles can move quickly in all |
Il . - O i  — | directions, can be compressed, because their
I AT%I“s and C?“‘.&‘g‘ds : . I | particles are far apart and have space to move in‘ro:
ements 1 ompounds
| contain just i contain different T T
| one :ype of 1 bfyge; of a'rohm Solubility: -
atom. | together.
I Oxygen (O,) ! Car‘:;nediozig:e (zroz) Some solids dissolve in
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% solute (usually a solid)
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________________ and a solvent (liquid ). |
Some gases, such as I
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Pure substances are made from only [ I A and o b°;.ss | waer
one chemical element or one i | in'::;'f:r’ candiso dissolve
| compound. e - _ _
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_made only of sodium chloride. I Regquired practical: Chromatography
Fs - ———————— 1 i
| The pH scale: : s i .
D o @ | -
B peeie W oopes B oo [ Vi | g
& I '
‘ ' ] Q& | x ABLD .
d *o 0
4 Tomato 5 Banana 6 Mitk Bl purovater I
I

50 soses  [E] Ammonia  [B] sieach  fE] orain [ERY] sodium
solution cleaner hydroxide
(NaOH)

P

| I
| I
I distance travelled by substance (8) |
| I
| I

I

|
| |
| |
| |
| |
| |
I I e
: . - ' - : DM PENCLY
=] =] o= - -
I e |
| |
| |
| |
| |
| |
| |

= 1elslel o Jalololulalnl] fsesa
distance travelled by solvent (A)
Acids Neutral Alkalis
Increasingty acidic Increasingly alkaline
S (.



near but not touching. I |

__________________________________ d
________________________________ I
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; - Contact: Contact forces are forces that act

I IZ:II::iIZnGCII on has an equal and opposing || between two objects that are physically I

. J| touching each other. I

Fe-m T T _" - Non contact: Non-contact forces are forces |

| Contact and non contact forces !l that act between two objects that are not |

| I physically touching each other. |

| Contact Force Non-Contact Force || - Balanced: When the fotal force in opposite I

| A contact force A non-contact force Il directions are equal in magnitude. . . |

| i . || - Unbalanced: When the total force in opposite

involves a force involves a force between . . , . . |
: A ; | directions aren’t equal in magnitude.

| between two objects objects not touching. You | - Force: A push ora pull. The unit of force is I

| in contact. i can't 'see’ anything I| the neW‘I'on (PN) pull

| & v, @ physically touching, but |I_ __________________________________ I

I there is still an attraction | R d ctical -

=] or repulsion. | 4—% uire racti Lo

I When you apply a force to a material it can

|  Forexample, friction For example, magnetic extend. The extension is the amount the

| between your feetand forces between two | length has increased by.

I the ground can be magnets can happen | I FE\EAE

I present. when the magnets are | I SV

I
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A scalar quantity has only magnitude. I - i

| A vector quantity has both magnitude and direction. :I g >

|

| _Scalar Quantities Vector Quantities I :

I length, area, volume displacement I

I "‘”;":::“V acceleration I I * o - .

| ooy sy i .

I work, power H I :

I I I

I I I

| Eree body diagrams A | T .
| A free body diagram models the

I
| forces acting on an obJecT |
| The object or "body’ is usually shown os a |

I
I

weight = mass ¥ grawvilational Hald strength W=mg

| box or a dot. The forces are shown as thin woek done = force x distance

| out cake icing) or at a molecular m
| level (gas particles in a can)

I
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| I
| I
s | , W = Fs I
| arrows pointing away from the centre of (moved slong the Ine of action of te force) |
Ihitﬁxirim_ __________ : loree = spang constant = extenson F = ke |
Moreccure:  [@Elac=h moment of @ force = force » Gstance |
Pressure: | M = Fd
| Pressire is the amount of force | (perpendicuiar Lo the direclion of e force) | I
applied to a specific area. Itis | essure = AE 0NN ¥ 8 MRS ¥ I
e P
| . area of that surface
I caused when objects exert a force | ; : I
on 'anofher ob\;ec"r. It can be ona | | dstance travelled - speed  fime S |
visible level (pushing a door, rolling | |
I resultant force = mass * acceleration F = ma |
I
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I All elements fit within the I | Elements - a substance that cannot be broken down
l_Pﬂ‘lidE -Latie _______ . | info any other substance.

Link to information orv] | is known fo exist.

most of the topic, . .
consisting of slides, |l Symbol - a sign/letter/character that is used to

videos, and quizzes I I represent somethi ng

I

I

I

|~ Somems T T 1| Periodic Table - a table showing every element that |
; I

I

I

I Periodic Table & Developing the Periodic Table

| . Task 1 & 2
Mendeleev redesigned Newlands

I periodic table by organising the

| periodic table by atomic weights !

I and the properties of the elements. " -
Some gaps were left based on his - W S0 3N S 9

I dictions of other elements that ook P SRR
predi CEET N R O N T S T

| hadn’t been discovered yet. e L T L I I T e

I As more elements were found, the R L T R R R D
modern periodic table took from pEmTAaSERREaNBRRRENESN -’

I organised by atomic number.
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I | per shell

15" shell: up to 2 53
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| E || No. of electrons sodium |
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Task 4

All have 7 electrons in outer
shell.
All diatomic (made up of two

LI * Haverelatively low MP [ F  atomsbonded together.

I
|
|
|
I
: All have full outer shells.
| y!

I * Have low densities II

I

I

I

|

|

|

I

I

All share similar properties:
prop All unreactive (inert).

« Aresoft (canbe cut) II

Lower down the group,

Cl  Thefurther down the group

The further down ‘rhegroup I| you go, the less reactive fhel the higher it gets.
you go, the more reactive the ” B elements become.
K elements become. T Thefurther down the group

pl
*  They will react will air and I you go, the higher its MP anqd

I
I
I
I
I
I
I
All have low boiling points. I
I
I
I
I
I
I
I
I

0
m This is because, going
down the group:

Rb tarnish quite quickly N BP, b Atoms become larger
: ol »Decause: Intermolecular forces
* They will react with water I + Molecules become larger | between atoms become
Cs TOIP:QdU(Che an almlme )l At - Intermolecular forces | stronger
solution (hence The name, become stronger i
and furn universal indicator I - More energy ig needed ’roI More energy is needed
Fr blue/purple Ts overcome These forces | to overcome these

forces
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I
| - Sperm: male reproductive cell that |
| contains genetic material I
| - Eqg: female reproductive cell that |
|  contains genetic material |
| - Reproduction: the joining of sex :
I |
I
I
I
I

| Reproduction can happen sexually and
| asexually

cells (a sperm and egg) to produce
offspring
- Fertilisation: the joining of a male

and female sex cell/genetic material

| - Develop: build upon given information
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| |, Sperm cell
I Adaptotions I
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I B e | " » That mid—piecs b pocked with mitochosdrio teo
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| Fertilisation | I S

W hen the sperm and egg nuclei join, they I 2T
form a ZYGOTE =]

% |*Containg o lot of crtoplasm which hos mrtrients
for the growth of the early embryn

» Hoplow suclsus contaiss the geretic moterial for
fertilwotion

& Call rambrdns changes afiar Tertiliegtion by a

wingle spariean 1hat na more spakn con miar

I
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I
, |
A sdapratioms I
I
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|| Menstrual cycle moew @
I m B B

[ Fertilisation
[l is used to

.- - 1| help people — =2 -
r-———- - .. .= | with fertility . &
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| Equations for this topic | issues o8B s<<l o e
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